Finished Dimension: 65" X 28" using Simply Soft by Caron, worsted weight, 2 skeins,
600 yards. (Option to carry a second strand of contrast yarn on motif stitches). You will
need a pair of straight needles and a 30" circular needle sized to your yarn choice.

Cast on 5 sts., using straight knitting needles. You will be knitting from tip to tip.

Increase Tip: repeat these 2 rows until you have 23 sts.
Row 1: k
Row2: k2, YO, knit to end. Place marker on YO increase edge.

Increase Section With Crucifix Motif: Optional: bold type stitches form the cross
motif. Option to carry a strand of contrast yarn with your main color of yarn for these
stitches.
RS: Row 1: k2, YO, K8, p3, kto end. (RS =right side = increase, YO edge)
k5, p5. k3, p5, knit to end
k2, YO, k9, p3. knit to end
k5, p5. k3, p5, knit to end
k2, YO, k10, p3, knit to end
k5, p5, k3, p5, knit to end
k2, YO, k11, p3, knit to end
5, p5, k3, p5, knit to end
k2, YO, k12, p3, knit to end
kS, p5, k3, p5, knit to end
11: k2, YO, K10, P9, knit to end
12: k5, p2, k9. p2, knit to end
13: k2. YO, k11, p9, knit to end
14: k5, p5, k3, p5, knit to end
15: k2, YO, k15, p3, knit to end
16: k5, p5, k3, p5, knit to end
17: k2, YO, k16, p3, knit to end
18: k
19: k2, YO, k to end. Repeat rows 19 & 20 three times.
20: k
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Switch to 30" circular needle.

Eyelet Increase Section: repeat these 10 rows until you reach 30" length

Row
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k2, YO, knit to end
tz, YO, knit to end
:2, YO, k2, *YO, k2tog." to last 5 or 6 sts., knit 5 or 6 sts.
:2, YO, knit to end
Ez, YO, knit to end

Garter Increase Section:
At 30" length, continue YO increases, (rows 1 & 2 above) Garter knit until you reach 33"

length.

Garter Decrease section:
Repeat these 2 rows for the next 3":

Row 1: k1, k2tog.,YO, k2 tog., knit to end
Row 2: k

Make sure you have an equal number of "garter ridges" on each side of the point of the
triangle. Then, begin next section on the Eyelet row--row 5

Eyelet Decrease Section:
Row 1: k1, k2tog.,YO, k2tog., knit to end
Row 2: k
Row 3: k1, K2tog., YO, k2tog., knit to end
Row 4: Kk
Row 5: k1, k2tog., "YO, k2tog.* to last 5 or 6 sts., k last 5 or 6 sts.
Row 6: kK
Row 7: k1, k2tog., YO, k2tog., knit to end
Row 8: k
Row 9: k1, k2tog., YO, k2 tog., knit to end

Row 10: k



Final decrease With Cross Motif: Be sure to begin this section on the decrease edge
of shawl. You should have 31 stitches remaining at this point. Switch to straight
needles.

Row 1: k1, k2 tog.. YO, k2 tog., k13, p3, k10
2: k5, p5, k3, p5, k12
3: k1, k2 tog., YO, k2 tog., k12, p3. k10
4: k5, p5, k3, p5, ki1
5: k1: k2 tog., YO, k2 tog., k8, p9, k7
6: k5, p2, k9, p2, k10
7: k1, k2tog., YO, k2 tog., k7, p9, k7
8: k5, p2, k3, p2, k9
9: k1, k2 tog., YO, k2tog., k9, p3. k10

10: k5, p5, k3, p5, k8
11: k1, k2 tog., YO, k2 tog., k8, p3, k10
12: k5, p5, k3, p5, k7
13: k1, k2 tog., YO, k2 tog., k7, p3, k10
14: k5, p5, k3, p5, k6
15: k1, k2 tog., YO, k2 tog., k6, p3, K10
16: k5, p5, k3, p5, k5
17: k1, k2 tog., YO, k2 tog., k5, p3, k10

Decrease Tip:

Repeat rows 18 & 19 until 5 sts remain, then bind off and weave in ends.

18: k.
19: k1, k2 tog., YO, k2 tog., knit to end of row.
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